
  

User:  jdmpx  |  Contact Us

Parts Catalog - Option Detail   

Electronic Parts Catalog - Option Detail

Option Group Graphic Film Card Date

BR1033 03.02 br104gd F 15-OCT-93

Engines NH/NT 855, NT495, NT743, NTA855 N106

SMALL | MEDIUM | LARGE
 

Cart Ref No Part Number Part Description Required Remarks

View My Cart

  BR1033 Breather And Filler   

     Brether And Filler

     Valve covers with breather

     and fill cap. Oil fill

     located over No.2 cylinder

     and breather located over

     No.6 cylinder. Breather vent

     tube extends from No.6

     cylinder toward rear corner

     of cylinder block exhaust

     side and clipped and

     terminated just below the top

     of the block.

      

1 3038035 Breather Tube 1  

2 3047134 Breather Tube 1  

3 64775 Plain Hose 1  

4 3082570 Clip 1  

5 3008596 Spring Hose Clamp 2  

https://qsservices.cummins.com/qshd/feedback.php?productid=1
javascript:swap_img('br104gd','/rtgraphics/english/parts/br/1/br104gd_sm.png');
javascript:swap_img('br104gd','/rtgraphics/english/parts/br/1/br104gd_md.png');
javascript:swap_img('br104gd','/rtgraphics/english/parts/br/1/br104gd_lg.png');


6 S 109 Hexagon Head Cap Screw 1 3/8 - 16 x 7/8 in.

7 113710 Tube Brace 1  

8 S 223 Heavy Hexagon Nut 1 3/8 - 16 UNC

9 S 602 Plain Washer 1 3/8 in.

10 S 604 Lock Washer 1 3/8 in.

11 S 190 Hexagon Head Cap Screw 1 5/8 - 18 x 1 inch

12 S 603 Lock Washer 1 5/8 in.

13 3042401 Grommet Seal 1  

 14 3042402 Rocker Lever Cover 1  

15 3006183 Rocker Lever Cover 1  

16 3006349 Rocker Lever Cover 1  

17 3067459 Rocker Lever Cover Gasket 3  

18 3038076 Captive Washer Cap Screw 15 3/8 - 16 X 15/16 in.

19 101322 Filler Cap 1  

 
© 2019 Cummins Inc., Box 3005, Columbus, IN 47202-3005 U.S.A. 

Terms of Use and Disclaimers  |  Recommended System Requirements 
Need Assistance? Please click on the Contact Us button in the top right corner of any page.

https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

